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Question Number : 1 Question Id : 67809417024 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical
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Question Number : 2 Question Id : 67809417025 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical
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(Question Number : 3 Question Id : 67809417026 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

If two rows or two colunms of a deternunant are identical then the value of the determinant is

Options :
™

| -

Cuestion Number : 4 Question Id : 67809417027 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

265 240 219
The value of 240 225 198] 1is
219 198 181

k-2

(Question Number : 5 Question Id : 67809417028 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Yertical

=
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The adjoint of the square matrix A =

s D

Options :

.3 = LN

1

1

15

collegedunia:s

India’s largest Student Review Platform



S
S

. A
LUl o

[y |

N

b
/.--'—"--.\\ ﬁ
.

P 2
”2 l
14 =13
—2 9
2 1
14 13
—Z —4
2 1
i =15

Question Number : 6 Question Id : 67809417029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
G L 5
| 2i-1  3i-1
10 15
R e | Ir—1
11 7
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(2x—1)(3x—1)

Question Number : 7 Question Id : 67809417030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
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(-1 (x-2)

collegedunia:s

India’s largest Student Review Platform



L

Cuestion Number : 8 Question Id : 67809417031 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 - -
IftanA = - and tanB = < then tan(A — B) =
Options :

1
|7

-1
27

1
3 5

1
4 3

Question Number : 9 Question Id : 67809417032 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The value of cotZA + tanA —

Options :
| SInZA
+ CO0S2A

sec2A

s

- cosecZA

P

Question Number : 10 Question Id : 67809417033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :
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Question Number : 11 Question Id : 67809417034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. .. T ., 2 . 3m . 4m
Thevalueof sin—sin—sin—s8in— =
5 5 5 3
Options :
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Question Number : 12 Question Id : 67809417035 Display Question Number @ Yes Single Line Question Option : No Option
(wrientation : Vertical

The value of c0s20° 4 cos100° + cos140° =

Oplions :

O

s
'—
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The value of Y a(b? + ¢?)cosA is

Options :
| 2abce

s

Question Number : 14 Question Id : 67809417037 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

. 9 L T T & O T
The value of (a — b)*cos® (E) + (a + b)?sin® (E) is

Options :

6

» O

CS

L

; C°

Question Number : 15 Question Id : 67809417038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 .
The value of 2tan (E) + tan 1 (-;) 15

Options :

, w4

.;r[l,-'-':}
3. T[J'IIG
4 T3

Question Number : 16 Question Id : 67809417039 Display Question Number @ Yes Single Line Question Option : No Option
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Oplions :
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(Question Number : 17 Question Id : 67809417040 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4 1 -1 - it 5 :
Iftan™'x+ tan™'y + tan~'z = T then the value of xy + yz + 2x 1s

Oplions :

L=l
1.3
300
4.1

Question Number : 18 (Question Id : 67809417041 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of a complex number v3 +1{ 1s

Oplions :
-

L. ==

s
I-2

Cuestion Number : 19 Question Id : 67809417042 Display Question Number : Yes Single Line Question Option : No Option

Mrientatinn « Verticral
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Options :
| 2cosn0
» -2 cosnt

| 3 cosf

Ll

2 sin nf
4,

Question Number : 20 Question Id : 67809417043 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

The centre of the circle:x? 4 y2 2x 1 6y —6=0 13

Oplions :

¢ (1:3)

4

Pl
[~
T

R

e
N

(%)
f—

L (-1.3)

Question Number : 21 Question Id : 67809417044 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the circle: 5x% + 5y? — 6x + 8y — 75 =0 is

Oplions :

| -4

L
-2

TJ_J

Question Number ;: 22 Question Id : 67809417045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ecnation of the narabola with vertex (2. —1) and foens (2. —3) ic
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x?  Ax gy — 12

-

x2+4x -8y 12 =0

o

%% 4 5x —~8y - T1L =0

Cuestion Number : 23 Question Id : 67809417046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The centre of the ellipse: 9x% + 25y% — 18x + 100y — 116 =0 is
Options :

(2 1)

(~1:—2)

Lo

(L, 2)

e

z. (3r2)

Question Number : 24 Queslion Id : 67809417047 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥

- - X B ;
The focus of the hyperbola———=1 15
’ 25 144

Options :

 (-13,0)

. (13,0)

, (13,1)

Cuestion Number : 25 Question Id : 67809417048 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the major axis of the ellipse: 4x 2 -+ 3y? = 48 is
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(Question Number : 26 Queslion Id : 67809417049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v —1
r—1

The value of limy_y

Options :
i 3

—
]

Question Number : 27 Queslion Id : 67809417030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_ a+bx | o ) | |

It y= o then the derivative of ¥y with respect to X 1s
Options :

a‘+h-
{ (b—ax)?

aZ+h?
v (b+ax)=

g% -b*
_ (b-ax)?
.

a+b
4 (b—ax)?

(Ouestion Number : 28 Ouestion Id : 67809417051 Displav Ouestion Number : Yes Sinele Line Ouestion Ontion : No Obption
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Options :

1 (x — 3)x%e®

(e— 2)n"e®

-

(x 1 3)x?%e*

)

(x — L)x3eX

Question Number : 29 Queslion Id : 67809417032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ay

X

If v =secx +tanx then 1S

Options :

| Y cosx
, ysecx
. —Y8Inx
J

tan x
47

Question Number : 30 Queslion Id : 67809417033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2+3sinhx

HTy= —— then the derivative of y with respect to x 18
2+2sinhia
Options :
5coshx

 (3+2sinh Ty

Ssinha

(3+2sinhx)<

-

5sinx

; (3-2coshx) =
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Question Number : 31 Question Id : 67809417054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g fl—cusx ay .
[fy= |—— then =— 15

\ l14+cosx (o

(Iptions :

- A
sec” (—)
1 2

Lo

Question Number : 32 Question Id : 67809417055 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves y = x2% 4+ 3x — 7 and y2 =2x +5 at(2,3) is
Options :

1 tan =2

-

seclh =2

. cosh =1

mé =3

Question Number : 33 Question Id : 67809417056 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of X for which the function x® 3x?  45x | 2 isincreasing with X is

Options :

. (3,-5)
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, (35)

, (=35)

Question Number : 34 Queslion Id : 67809417057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of the function 2x2 — 12x2 4+ 18x 4+ 5 1is

Oplions :
f, L3

12

-

s

P
i
_h

(Question Number : 35 Question Id : 67809417058 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o . i . ou du
[fuis a homogeneous function of x and y with degree n then x 5 | P
Options :

1. —nu
s néu
. Nu
J,
2 i
g Ut u

(Question Number : 36 Question Id : 67809417059 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of | ———dx is

A

Options :

| 2sinvx t ¢
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_2simx + ¢
.

; smyx 1 ¢

Question Number : 37 Question Id : 67809417060 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. ax ;
The value of r = I3
Va-—x<

Oplions :

1 AL
sin~ 1 (—) fes
2 a
. s X
ginh (H) + C
3 g
. a
i~ (—) +C
4. +

Question Number : 38 Question Id : 67809417061 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

ax

The value of ( e

B s o B o o [

Oplions :

1,
1 2x+1
~cot 1( )‘l—C

) HA
1 < (2v+1
~sin 1( +c

3, 4

4 {21 1
Stan | - )—rC
; 4
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The value of J logx dx is

Oplions :

| xlogx+x+c¢

leegx x | c

xlogx — %+ ¢

]

b
il

:
xlogk ——+
2

Question Number : 40 Question Id : 67809417063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. d — 1 :
The value ot Jl (vx + _T) dx 1s
VX

Oplions :

20
I a3

_ 0

10
: 3
J.

J._S_
g 7

Question Number : 41 Question Id : 67809417064 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% M2 L e
The value ot ’ sin? x dx 1s

Options :
T
1 I 2
T
S 4
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Cuestion Number @ 42 (Question Id : 67809417065 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area enclosed between the curve y? = 4ax and the line x = 2y is
Options :

64 .
— $(]. UNIts

64

— 8(. UNIts

65 :
: 5. units

L

63 .
: s¢.units

Cuestion Number : 43 (Question Id : 67809417066 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s 1 1 1 ,
The value of limy [— + — 4+ —] is
n+1 n+2 n=n

Options :
, log?2

. log3
9 log?2

logn

(Question Number : 44 Question Id : 67809417067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Form the differential equation by eliminating the arbitrary constant @ from ay” = x?3

Oplions :
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1 Ll LX

dy _ 2
) (11 3Y

v _x
348 )

ty _ 2y
4 8 % K

Cuestion Number : 45 (Question Id : 67809417068 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_—

The solution of 1 — ¥2dx ++v1 —x2dy =0 is

(Iptions :

,cosTtxtcosTty=c

) cos lx fsecTlx=c
3.
W T T
sin “x +8smn "y=¢c
4.

Question Number : 46 Question Id : 67809417069 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: .4y | :
The solution of e (4x +v +1)?% is

Oplions :
1 =0 I/'-ft'l'ﬂb"[—l\ .
—tan ‘L,—):'X—‘—C
Z 2 y
1.
1 1 (4x+y+1
“cot T |/——)=x+c
R \ 2 .

1 4 [dr+yv+1
- =tan l(f) =x +€

£

e
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(Question Number : 47 Question Id : 67809417070 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i i e ; ; 3 ;
The solution of exact differential equation 2xy dx + x“dy = 0 is

Options :

P
Ry
s XA =

By
; Xy =c¢
4 x2y3 = ¢

(Question Number : 48 Question Id : 67809417071 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: . ay _x .
The solutionof _—ty =e Y s

Options :

) (x + cle™™

(x—c)e*
(x+c)e?
3

C LAY 2
i (x + c)e™*

Question Number : 49 Question Id : 67809417072 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (D¢ + 5D + 6)y = eV is

Options :
—p~X
;| 12
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Cuestion Number : 50 (Question Id : 67809417073 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complementary function of (D? + 3D + 2)y = 8sinSx is

Options :
cie™™ 4 e
1.

]

Physics
Number of Questions: i

Display Number Panel: Yes
Group All Questions: No

Cuestion Number : 51 Question Id : 67809417074 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not the unit of energy?

Options :
1 watt second

. Pascal metre
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4 Kilowatt hour

Cuestion Number : 52 Question Id : 67809417075 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of Mercury barometer is 76 cm and density of Mercury is 13.6 g/cc. The

corresponding height of water barometer in Sl system is

Options :
10.336 m

103.36 m

-

s
LA
o
—
-
4

4 1.0336m

(Question Number : 533 Question Id : 67809417076 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Angle made by the vector (V3 i + j) with the X-axis is
COptions :

1 /2

/4

-

/3

ey

4 TU/0

Cuestion Number : 54 (Question Id : 67809417077 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum number of unequal forces in a plane that can keep a particle in equilibrium is

Options :

. 4

collegedunia:s

India’s largest Student Review Platform



Question Number : 535 Queslion Id : 67809417078 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is thrown with a velocity of (47 + 3j) m/s. The maximum height attained by

the body is (g=10 ms™)

Options :
[ 2.0m

-

45 m

| 0.8 m

[N

| 0.45 m

Question Number : 56 Question Id : 67809417079 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A person in a lift, which ascends up with acceleration 10ms™, drops a stone from a height of

10m. The time of descent is (g=10 ms'z)

Oplions :

| 05s

w 1 5

1.55

s

(Question Number : 57 Question Id : 67809417080 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a projectile, the ratio of maximum height reached to the square of time of flight is

(Iptions :
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Question Number : 38 Question Id : 67809417081 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of distances travelled by a body, starting from rest and travelling with uniform

acceleration, in successive intervals of time of equal duration will be

Options :

1. 1:2:3

e

-

3 15305

1286

=

Question Number : 59 Question Id : 67809417082 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A tforce of 12 N acts on a body of mass 4 kg placed on a rough surface. The coefficient of
friction between body and surface is 0.2 and take g= 10 ms ™. The acceleration of the body in

ms = is

Oplions :

L

—

(Question Number : 60 Question Id : 67809417083 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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brakes will stop the train in a distance which is

Oplions :

. d/f2

-

4d

]

4 d

Question Number ; 61 Question Id : 67809417084 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of linear momentum and velocity of a body represents

Oplions :

Kinetic energy of the body

Potential energy of the body
Half the Kinetic energy of the body

Twice the kinetic energy of the body

(Question Number : 62 Queslion Id : 67809417085 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A man weighing 60 kg eats plum cake whose energy content is 9800 calories. If all this

energy could be utilised by him, he can ascend to a height of

Options :

[ 17 m

» 100 m

70m

s

4 60m
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Orientation : Yertical

A crane can lift up 10,000 kg of coal in 1 hour from a mine of depth 180m. If the efficiency of

-
=

)

the crane is 80%, its input power must be (g=10 ms

Options :

| 62.5kw
. 6.25 kW

50 kw

(]

5 kW

Question Number : 64 Question Id : 67809417087 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The graph of acceleration as a function of displacement in the case of a body executing
simple harmonic motion is
Options :

1 Parabola

-

Hyperbola

Straight line with positive slope

Straight line with negative slope

Question Number : 65 Question Id : 67809417088 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The pendulum of length 'L swings from mean position toc mean position 'n’ times in one

second. The value of acceleration due to gravity is

Options :
| el

TN
s 2mn’L
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Question Number : 66 Question Id : 67809417089 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

When a source of sound is in motion towards a stationary observer, the effect observed is

Options :
Decrease in velocity of sound

. Increase in velocity of sound
increase in frequency of sound

decrease in frequency of sound

Question Number : 67 Question Id : 67809417090 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of a male person is different from that of a female person hecause

Options :
1 Two sounds have different phases

Two persons are of different size
Two sounds travel with different velocities

Two sounds have different pitch

Question Number ;: 68 Question Id : 67809417091 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the sound absorption of a hall is changed by 2%, then the percentage change in the

reverberation time is

Options :
| 2%
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3 1.»’:2!

No change
4.

(Question Number : 69 Queslion Id : 67809417092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following process, the internal energy of the system remains constant?
Options :

Adiabatic

P

. lsothermal
|5<:1i?:arir;.

lsochoric

o

Question Number : 70 Question Id : 67809417093 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

Heat required to raise the temperature of one gram of water through 1 Kis

Oplions :
1.0 Kcal

-

-

D1 Kcal
5 0.01 Kcal

i 0.001 Kcal

Cuestion Number : 71 Question Id : 67809417094 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas in an isothermal process is

Oplions :
| infinity
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Finite positive
J.

; Finite negative

Question Number : 72 Queslion Id : 67809417095 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Specific heat of aluminium is 0.25 cal/g/°C. The water equivalent of an aluminium vessel of
mass one kilogram is

COptions :

40 cal/°C

-

400 cal/°C

250 cal/~C

25 ea 1/°C

Ja

(Question Number : 73 Question Id : 67809417096 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What should be the percentage increase in the pressure so that the volume of a gas may

decrease by 5% at constant temperature?

Options :

Question Number : 74 Question Id : 67809417097 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical
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function is 2.2 eV, then the wavelength of incident radiation is

Oplions :

. 4000A
2000A

3000A

(]

, 20004

(Question Number : 75 Question Id : 67809417098 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the angle of incidence of a ray is greater than the critical angle at the core — cladding
interface in an optical fiber, then the ray travels
Options :
in the core
in the cladding

in the buffer

along the interface

Chetmstry
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Queslion Id : 67809417099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pauli's Exclusion principle states that two electrons i same orbital have

Options :
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cdifferent spins
_ Opposite spins
J.

verncal spins

Cuestion Number : 77 Question Id : 67809417100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Orbits 1n which electrons move according to Bohr are
Options :

. elliptical

cvlindrical
g circular

i oval

Cuestion Number : 78 Question Id : 67809417101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Phosphorus has an atonmuic number of 15, A stable phosphorus atom has an electronic
configuration of

Oplions :

2 ? -0
) 15_25'.-_1J6:ﬁp'

L AL
C 1s725729%3s3p 4
a.

: 15311}61d?

Question Number : 79 Question Id : 67809417102 Display Question Number : Yes Single Line Question Option : No Option

Orrientation : Vertical
gcollegedumaa
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Oplions :

. Covalent

-

- Tonic

Polar

Ll

~vander Waals

d=

(Question Number : 80 Question Id : 67809417103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bond formed due to sharing of electrons 1s

(Iptions :
. Tonic bond

i Netallic bond

Polar bond

Ll

~Covalent bond

N

Question Number : 81 Question Id : 67809417104 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The normality of solution obtained by dissolving 5.3 grams of Na-CO; mn 1 litre
solution 15

Oplions :

; LN

-

0.IN

0.05N

L]

, 0.5N

Question Number : 82 Question Id : 67809417105 Display Question Number @ Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :

[ XﬁgC()g

> Na('l

L
|

Cuestion Number : 83 Question Id : 67809417106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 moles of a solute 15 dissolved m 10 litres of solution. What 1s 1ts molarity?

Options :

12 M

=+
-2
"
==

]
-
rn
';;;7-J

C0.2M

B [

(Question Number : 84 Question Id : 67809417107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Process m which acids (H ) and bases (OH) react to form salts and water 1s called
Oplions :

1 Neutralization

. Halogenanon

Hydrogenatuon

3 Hvdrolvsis

(Question Number : 85 Question Id : 67809417108 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
gcol legedunia:
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Options :
, Lewis acid

| [ewis base

Lo

Bronsted-Lowry acid

p Bronsted-Lowry base

(Question Number : 86 Question Id : 67809417109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One Faraday 1s equal to

Oplions :

| 99650 C

-

193100 C
. 96300 C

194500 C

i

Question Number : 87 Question Id : 67809417110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The cell reaction of a cell is Mg(s) + 2 H (aq) — I\-’Ig3+{;a(1j} + Hx(g). If the standard

reduction potential of Znis —2.372 V. then the emtf of the cell 15
Options :
{ FL.32 N
g = LTIV
; 0.00V

(Juestion Number : 88 Question Id : 67809417111 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

. Electrical energy to chenucal energy
Chemical energy to electrical energy
Chemuical energy to free energy

Potential energy to kimetic energy

Question Number : 89 Question Id : 67809417112 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

Mass of substance produced at electrode 1s directly proportional to the quantity of
electricity passed. This 1s known as

COptions :

. Faraday's second law

Faraday's first law
; Newton's third law

; Newton's first law

Question Number : 90 Question Id : 67809417113 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Hardness of water 1s expressed i terms of equivalent of
Options :
1 Na-CO;

K->CO;

i_\'[g(:q(:)g

]

Ca C(:)3

L ]
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Temporary hardness 1s caused by
Oplions :

. Carbonates of calcium and magnesium
Chlorides of calcium and magnesium
Sulphates of calcium and magnesium

Nitrates of Calcium

Cuestion Number : 92 (Question Id : 67809417115 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exhausted zeolite bed can be regenerated by washing with

Oplions :

, NaCl

dil. NaOH

-

~dil. HC

L]

Distilled water

45

(Question Number : 93 Question Id : 67809417116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Corroston 1s an example of

Options :

Oxidation

]

. Reduction

Electrolvsis

]

Halogenation

L ]
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The composition of rust 15

Options :

. Fe(OH);

FCCI_:-,

-

FeO

(]

FE’;O}. XHEO

(Question Number : 95 Question Id : 67809417118 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one ot the following statement 1s not true?
Options :
Natural rubber has the trans-contiguration at every double bond

Buna-S 1s a copolymer of butadiene and styrene

Natural rubber 1s a 1. 4-polyvmer of 1soprene

o

In vulcanization. the formation of sulphur bridges between different chains
makes rubber harder and stronger

(Question Number : 96 Question Id : 67809417119 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers of Buna-S rubber are

Options :
Styrene and butadiene

1
Styrene and 2-propene
, [soprene and butadiene

L ]
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Question Number : 97 Question Id : 67809417120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The plastics which soften when heat 1s applied with or withourt pressure. but require
cooling to set them to shape are called as

Options :
1 Thermosoftmg materials

Thermosetung materials

Thermoplastic materials

Ll

; Thermostatting materials

Question Number : 98 (Question Id : 67809417121 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statement 1s not true about ideal tuel?

Options :
. High caloritic value

High moisture content

-

- Low cost

(]

, Moderate 1gnition temperature

Question Number : 99 (Question Id : 67809417122 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enviromuental pollution attects

Oplions :

Humans onlv
i J

. Plants only

gcollegeduniaa
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) Both abiotic and biotic components

(Question Number : 100 Question Id : 67809417123 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Laver of atmosphere i which ozone laver lies 1s
Options :
. Troposphere

Stratosphere

Exosphere

, Mesosphere

Chemical Engmesring

Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 67809417124 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Ethane gas (molecular weight = 30 amu) 1s stored in a cvlinder at a temperature of
277C and a pressure of 1 bar. Take universal gas constant as 8 kJ (kmol K).

- i . . : : , A
Constdermg ethane to be 1deal gas. the density 15 kgm™.

(ptions :

L 5:36

B

)

0

-

I.:Irl
e

s

4 1250
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Which conunution equipinient uses critical speed concept?
Options :

1. Hamimner 1ull

2. Atftrition 1l

3. Jaw crusher

4. Ball 1ull

(Question Number : 103 Question Id : 67809417126 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In all bmary phase diagrams a two-phase region separates single phase reglons. Tlus 15 kmown as
COptions :

1. Lever rule

2. Eirkendall effect

F.1225] rule

4 Ficls law

Question Number ; 104 Question Id : 67809417127 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followiig 15 vsed to measures Pomt velocity of a flud?
Options :

I Kotameter

2. Pitat Tube

3 WVenturuneter

4 Cortolis meter

Question Number : 105 Question Id : 67809417128 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The resistatice-temperature relation for platimun elements 18 given by
Options :
1. Coxz chart

-

2. Callendar equation
CTrouton's rule

4 Plancld's law

(]

Question Number : 106 Question Id : 67809417129 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which mdusty releases mitrogen ozdes into atmosphere?
Oplions :

1. MNuclear power

o Agnculture

3. stone crushing

4. Petroleumn refining

CQuestion Number : 107 Question Id : 67809417130 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& gas merhure contams only methane (molecular waght = 16 amu) and ethane (molecular weight = 30 amu). The composttion of
ethane 1z 20 percent by volune Assuning the application of ideal gas law, the average molecular weght of the gas mizzture 15
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Question Number : 108 Question Id : 67809417131 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Binary gas diffusion coefficients for gas muxtures are m between m-s.

Options :

| 107 and 1[}'4

4 6
10 "and 10

-

3 10°% and 107

4 lth'S and lllﬁ}"iIJ

(Question Number : 109 Question Id : 67809417132 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The degree of polymenzation m polyethylene 15 2000, IMolecular weight of ethylene 15 28 an The average molecular weight of
polyethylene 13

(ptions :

1. 2000

2. 25000

3. 56000

4. 28

Question Number : 110 Question Id : 67809417133 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Duralumu 15 an alloy of
(ptions :
1. Alvmimnnumn and copper

-

2 Alutndntum and deut e

CAlumdntan and duron

(]

4 Alutmdnnun and chrotnin

Question Number : 111 Question Id : 67809417134 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

macrificial anode 13 uzed for
Options :
1. Anodic protection

-

2. Cathadic protection

- Pagstvation

]
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Question Number : 112 Question Id : 67809417135 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Colour measurement can be done by
Options :

1. Optical pyrometer

2 Cortolis meter

3. hpectrometer

4. Z-ray diffraction

(Question Number : 113 Question Id : 67809417136 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enthalpy change durmg a throttling pirocess 13
Options :
1. Megative

2 Positive
3. L&r0

4 Cannot be determined

(Question Number : 114 Question Id : 67809417137 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

= ; ; ; s I Z ;

A Carnot engine operates with a heat source reservow at 127°C and a heat sk
' -, ¥ ! T B ! :

reservour at 27 C. What 1s 1ts thermal etficiency?

Oplions :

-

s

(Question Number : 115 Question Id : 67809417138 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Actual pressure of 1sobutylene 15 10 bar and its cntical pressure s 40 bar. Then reduced pressure s
Options :

1. 30 bar

2 4 bar

3. 0.25 bar

450 bar

(Question Number : 116 Question Id : 67809417139 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Activated sludge process 15 emploved m1 the treatment of waste waters m

(Iptions :
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3. Tertiary treatment

4 Ton-ezchange

Question Number : 117 Question Id : 67809417140 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

An ezample for path function is
Options :

1. Pressure

2. NWolume

3. Waoark

4. Temperature

Question Number : 118 Question Id : 67809417141 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Absorption 15 the mass transfer operation that occurs between phases.

Oplions :

1. Gas and gas

-, Gas and logud
3. Laquud and golid

4. Lagqud and Leuid

Question Number : 119 Question Id : 67809417142 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followmg mdustries uses blast furnace?
Oplions :
1. Hmdustan Petrolewm Corporation Lunited

-, Wsaldhapatnam steel Plant
. Coramandel Fertiizers Linuted

4 Godavan Fertiizers Linited

(]

Cuestion Number @ 120 Question Id : 67809417143 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The degree of freedom when 1ce, water and water vapour coezast i equilibrium 13

Options :
1. -1

2 Leto
3.1

4.3

Question Number : 121 Question Id : 67809417144 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

A refrigeration system requires 2 kilowatt power tor a refrigeration rate of 5
kilojoules per second. What 1s 1ts coeftficient of performance?

Options :

0.4
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Question Number : 122 Question Id : 67809417145 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

I11 which reactor the residetice time 13 same for all eletnents of fluad?
Options :

1. Batch reactor

2. Ideal plug flow reactor

3. CoTR

4. Pacleed bed reactor

Question Number : 123 Question Id : 67809417146 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The fluds for which the ratio of shear stress to the shear rate 18 constant are called as  fluds.
Oplions :

l. Dilatant

2. Bigham

3. MNewtonian

4. Thizotropic

Question Number : 124 Question Id : 67809417147 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Film theory m interphase mass transfer 15 described by
Oplions :

. Lewis and VWlatiman

2. Treybal

- Dankowerts

]

4. Henty

Cuestion Number @ 125 Question Id : 67809417148 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It a chenucal reaction the thermodynanue equlibruun constant 15 unaffected by
Oplions :
I Temperature

-

. Concentration of matenals

L

- Conversion of reactants

(]

4 Pregence of merts

Cuestion Number @ 126 Question Id : 67809417149 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The temperature of a furnace 15 ratsed at the rate of 5°C par nunute. The thermometer that 15 used to measure the fumace
temperature 15 a first order system with a tune constant of » mum. The mazumun dynamic ervor would be e,

Options :
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Question Number : 127 Question Id : 67809417150 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Antome equation 18 used to compute at a @ven temperature.
Options :
l. Atonuc radius

-

2 Wapour pressure

(]

. Bond energy

4 Wave length

Cuestion Number @ 128 Question Id : 67809417151 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A gas 1g confined m a vessel with 11g1d and insulating walls. Tlds 18 an exzample of sy stem.
Oplions :
1. Cloged

e

2. Open

Isolated

s

4 Extensive

CQuestion Number : 129 Question Id : 67809417152 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Entropy of the universe 12
Oplions :
1. Constant

L]

. Decreasmg

(]

- Inereasing

4. MNegative

Cuestion Number @ 130 Question Id : 67809417153 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The temperature at wluch the equilibrium vapour pressure of the hgquid 15 equal to the esting partal pressure of the vapour 13
termedas  of the muxture.

Oplions :

1. Mormal boiling pomt

-

2. Critical temperature

(]

. Bubble pomt

4. Dew point

Question Number : 131 Question Id : 67809417154 Display Question Number : Yes Single Line Question Option : No Option
(wientation : Vertical
An ideal zas undergoes a polvtropic change which ¢an be represented by PV =
constant. If ¢ 1s taken as infinity then the path that 1s followed by the gas 13

Oplions :
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Isobaric

-

Adiabatic

Ll

; Isovolumic

Question Number : 132 Question Id : 67809417155 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

An ezample for extensive property m thermodynamics 13
Options :
1. Pressure

e

2. Temperature

. Enthalpy

L]

4. Density

Question Number : 133 Question Id : 67809417156 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

In sedunentation operation | which of the following settling talees place at final stages”
Options :
1. Free Hettling

e

2. Compressive bettling

- Hindered Hettling

]

4. Browiuan setthng

(Question Number : 134 Question Id : 67809417157 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of area of opening of two successive Tyler screens 1s

COptions :

s
()

Question Number : 135 Question Id : 67809417158 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The tower miternials that are difficult to clean are
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3. Random paclang

4. Structured packing

Question Number : 136 Question Id : 67809417159 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

states that m conduction heat fluz 15 proportional to the temperature gradient.
Options :
l. Plancld's law
2. otefan-Boltzmann law
Fourer law

4 Kirchhoff law

]

Cuestion Number @ 137 Question Id : 67809417160 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It1 a shell and tube heat exchanger, to promote cross flow and raise the average veloctty of the shell side flud, are
mstalled m the shell side.

Oplions :
1. MNozzles

2 Tierods
3. Tube sheets

4. Baffles

Cuestion Number @ 138 Question Id : 67809417161 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cross-ambient effect 13 assoctated with thermotneter

Oplions :
1. Bunetallic

e

-, Wapour-actuated

. Resistance

]

4. Wercury-m-glass

Question Number : 139 Question Id : 67809417162 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An ezample for non-MNewtotan fluid 13
Oplions :
1. Water

2 Alcohiol

. Benzene

(]

4. Toothpaste

Question Number : 140 Question Id : 67809417163 Display Question Number : Yes Single Line Question Option : No Option
(wientation : Vertical

Contmious vacuum filter ordiarily uges nun Hg vacuum
Options :
1. Less than 250

2. 250
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Question Number : 141 Question Id : 67809417164 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Units of thermal conductivity are

Oplions :
| Wiim.K)

(W.m) K
- Wi(mmK)
. :

(W.m)'K

Question Number : 142 Question Id : 67809417165 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Filter aid 15 used to
Options :
1. Increase the rate of filtration

e

2. Decrease the pressure drop
3. Increase the porosity of the cake

4. Support base for the system

Question Number : 143 Question Id : 67809417166 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Decanters are uged 1 the operation.
Options :
1. Dastillation

e

2 Extraction

L]

Absomption

4. Drying

Question Number : 144 Question Id : 67809417167 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

For monatomic gases. the ratio of heat capacities CpCyv =

Options :
¢ L

1,25
s Ay
3.
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Question Number : 145 Question Id : 67809417168 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Power Law wlhich malkes vuse of work index 15
Oplions :
1 Kick's law

-

2 Bond's law

]

- Rittinger’ ¢ law

4 Ficlds law

Question Number : 146 Question Id : 67809417169 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The size reduction mechanisim 11 Jaw crushers 1s
Options :
CAttrition

-

- Compression

L

L]

. Cutting

4. Impact

Question Number : 147 Question Id : 67809417170 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Al borme suspension of solid or hgwd 1 known as
Options :

1. Aerosgol

2. Cresol

3. Xylol

4. Dt

Question Number : 148 Question Id : 67809417171 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Absolute pressure at a pomnt 15 5.0 bar and surrounding pressure 1s 2.0 bar, The
gauge pressure 1% bar.

Options :
, 7.0

e

Question Number : 149 Question Id : 67809417172 Display Question Number : Yes Single Line Question Option : No Option
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| Extraction
2 Dastillation
3. Absorption

4. Drying

(Question Number : 150 Question Id : 67809417173 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

type of tower 15 used for gas dispersed m the hiqud m the form of bubbles,
COptions :
1. Facked tower
2. npray tower

Setiture scrubber

]

4. Tray tower

Question Number ; 151 Question Id : 67809417174 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which type of heat exchangers are generally used m diary and food mdustries”
Options :

1. whell and tube

2. Double pipe

3. Plate type

4 Extended surface

Question Number : 152 Question Id : 67809417175 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Feynolds numbet 15 defined ag
Options :
1. (mnertial force){ gravity force)

L

> {gravity force)/(mertial force)

(]

(nertial force)viscous foree)
4. (wiscous force)/(mertial force)

Cuestion Number : 153 Question Id : 67809417176 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It the viscosity 15 1 centipoise. diffusivity 1s 1 e’ s and density 1 1 grem’.then

the Schnudt number 1s

Options :

. !

0.1

-

(y ()
3 0.01
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Question Number : 1534 Question Id : 67809417177 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Let h = heat transter coefficient. D = diameter. k = thermal conductivity.

then Nusselt number 15 given by

Oplions :

1 (hD)'k

-

(hk)'D
(kD)'h

Di(kh)

CQuestion Number @ 155 Question Id : 67809417178 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

For concentration of highly heat sensitive materials such as orange jmce evaporator 15 used.

Oplions :
1. Long-tube climbing film

. Falling film type

-

L}

- Forced circulation

4. Agitated film

]

Cuestion Number : 156 (Question Id : 67809417179 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

An mstnunent i1s composed of four parts, Each part has a specified accuracy of

Options :

AL "'|
| ot WL

+0. 25

]

A4}

fhection Momher + 157 Onectinn Ted

+().25 percent. The least accuracy 1s percent.

s ATRENGATTIRN Misnlav (mestinn Muamher « Yee Sinole Taine Maection OInfinn * Mo OInfinn
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I Ivlethane and carbon diozide
. Propane, butane and titrogen ozide
3. Butane, pentane and sulphur diozide

4 Carbon ciozde and water

(Question Number : 158 Question Id : 67809417181 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The temperature at wluch igmtion will occur without the presence of a sparle or flame 15 Imown as
COptions :

1. Acdhabatic reaction temperature

2 Autoigiution temperature

3. Theoretical flame temperature

4. Fare pout

Question Number ;: 159 Question Id : 67809417182 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Fault-tree analysis 15 a

Options :

1. Hazard assessment technigque
2. Biochemical analysis method
3. Tree ttunk morphology study

4. Combustion based activity

Question Number : 160 Question Id : 67809417183 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Bliopal disaster was due to
Options :
1. Ivlethyl 1socynate

2. Ivlethyl cynate

]

Isomethyl cynate

4. Potagshun cyanide

Question Number : 161 Question Id : 67809417184 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which property of the flud 13 a measure of 1ts resistance to flow”?
Oplions :

1. Density

2 Viscostty

3. Vapour pressure

4 Surface tetision

CQuestion Number : 162 Question Id : 67809417185 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation that 15 applicable to the flow of homogeneous flud through paclked beds 13
Oplions :
1. Darcy
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Question Number : 163 Question Id : 67809417186 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

I evaporator design, steam economy 15 defined as
Options :

1. IVass of water evaporated per vt tune

2. Wags of steam fed per unit time

3. Wass of water evaporated per mass of steam fed

4. Nags of steam fed per mass of water evaporated

Question Number : 164 Question Id : 67809417187 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Fecovery of pentetllin from fermentation broth 1 the application of type of mass transfer operation
Options :

1. Absorption

2. Dastillation

3. Extraction

4. Adsorption

Question Number : 165 Question Id : 67809417188 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Double pipe heat ezchangers are used when the heat transfer ateagare 17
Options :

1. IVore than 1000

2. Between 100 and 150

3. Between 00 and 500

4 Between 500 and 1000

(Question Number : 166 Question Id : 67809417189 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bottoins frotn the beer still are knowt asg
Options :
1 [Molasses

e

2. olops
3. Bagasse

4 FEthanol

(Question Number : 167 Question Id : 67809417190 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bumung of solid wastes at lugh temperatures 15 lmown as
Options :
1. Flacculation

2 Incineration

(]

- Digestion

4 Calciation
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The final procducts of combustion of hydrocarbons are

Options :
. Hydrogen and carbon

-

2 Carbon chiozde ancd water

3. Carbon, carbon mono:ide, carbon dioziade, hydrogen

4. Carbon, carbon ciozade, hydrogen

Question Number : 169 Question Id
Orientation : Vertical

: 67809417192 Display Question Number : Yes Single Line Question Option : No Option

Which of the followmg resembles natural mubber?

COptions :

1. Polythene

2. Polyisoprene
3BV

4. Polystyrene

Question Number : 170 Question Id
Orientalion : Verlical

India’s coal production 15 mamly m
Options :
1. Jharlchand

2 Andhra Pradesh

-

- Kerala

4 Goa

]

Question Number : 171 Question Id
Orientalion : Verlical

An ezample for solid fuel 13
Options :

1. Maphtha

2. LG

3. Coal

4 Grante

(Qniestion Number : 172 Question Id
Orientation : Vertical

Coal gasification can be done using
Oplions :
1. Lurg process

e

. United Genman process

]

Utulever process

4. Coal Reich process

Question Number : 173 Question Id
Orientation : Vertical

Energy audits help m1 anproving

Oplions :

: 67809417193 Display Question Number : Yes Single Line QQuestion Option : No Option

: 67809417194 Display Question Number : Yes Single Line QQuestion Option : No Option

: 67809417195 Display Question Number : Yes Single Line Question Option : No Option

: 67809417196 Display Question Number : Yes Single Line Question Option : No Option
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3. Energy conservation

4. Energy dissipation

Question Number : 174 Question Id : 67809417197 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followiig 1% a residue product from petrolewm refinery”
Options :

L LEG

1. Petrol

3. Daesel

4 Grease

Cuestion Number : 175 Question Id : 67809417198 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The amount of motsture m a solid that exzerts a vapour pressure less than the normal vapour pressure of water at the given
temperature 15 called as

Oplions :

1. Bound moisturs

2. Unbound moisture

3. Free moisture

4. Equilibrivim moisture

Cuestion Number : 176 Question Id : 67809417199 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An ezample for variable area meter 13
Oplions :
1. Rotameter

S Onfice meter

W Tenturn mmeter

]

4 \Wet gag meter

CQuestion Number : 177 Question Id : 67809417200 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg 15 not a function of an mstrument?
Oplions :
1. Registermg

-

2. Indicatmg
. Dnifting

4. Recording

(]

Question Number : 178 Question Id : 67809417201 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

Channeling 15 an undeswable operation i
Options :
1. Packed towers

2. hpray towers
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Question Number : 179 Question Id : 67809417202 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Unit for overall heat transfer coetficient 1s
Options :

. WimK)

» Wim.K)

; (Wm)K

, - 1’\ R
(W.n )k

Question Number : 180 Question Id : 67809417203 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

An ezample for tozic metal 15
Options :
1. Calcmum

e

2 Sodiam
3. Potassium

4. Nercury

Question Number : 181 Question Id : 67809417204 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cyclone separator 15 used for removing froma gas.
Oplions :

1. Carbon monazade

. oulphur diozade

3. Mitrogen ozades

4 Particulate matter

Question Number : 182 Question Id : 67809417205 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The calibrated range of a thermometer is 200°C to S00°C. The span of the

thermometer is

Options :
200°C

. 500°C
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Cuestion Number : 183 Question Id : 67809417206 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

opperation 1¢ carried out for econotmical removal of plienol from agqueous wastes.

Options :

1. Distdlation
2. Exztraction
3. Absorption

4. Drying

Question Number : 184 Question Id : 67809417207 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Handling of cotrrosive liquuds can be done usmg Py,
Options :
1. Piston

2. Plunger
3. Gear

4. Diaphragm

Question Number : 185 Question Id : 67809417208 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

ol 15 a1 edible oil

Options :

1. Lube

2. Litiseed
3. Rice bran

4, Castorseed

(Question Number : 186 Question Id : 67809417209 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mapontfication process 15 used m the manufacture of
Options :
1. Hoaps

e

2. nodaash
3. hoda lime glass

4, Varushes

(Question Number : 187 Question Id : 67809417210 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bypassmig a flmd stream by splitting it into two parallel streams 15 done for the purpose of achieving
Options :

. Accurate control i concentration

2. Wamzmuom yield

C Optinom conversion

(]
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Question Number : 188 Question Id : 67809417211 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Contact process 15 uged for manufacture of
Options :

1. Ditric actd

2. Hydrochloric acid

3. Phosphortic acid

4. Sulphunc acid

(Question Number : 189 Question Id : 67809417212 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oynthests gas 15 a miztture of
Options :
1. Carbon monaozade and hydrogen

N TTIF

2 \Water vapour and carbon monozide
3. Water vapour and carbon diozide

4. Carbon diozide and liydrogen

(Question Number : 190 Question Id : 67809417213 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mylviate 15 a muneral of
Options :
1. Iron

e

2 Potassim
3. Copper

4. Silver

(Question Number : 191 Question Id : 67809417214 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The catalyst used m the synthests of ammoma from mtrogen and hydrogen 15
(Iptions :
1. Cuproug ozide

e

2 Iron ozde
Platitiom

4 Miclel

(]

Question Number : 192 Question Id : 67809417215 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Prilling process 15 requared i the manufacture of
Options :
1. Industral gases

-

2 Urea
 Glucoge

4 Nitric actd

]

Question Number : 193 Question Id : 67809417216 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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1. Hydrochloric acid leaching

2. Mitrie acid leaching

]

sulphuric acid leacling

4 Electric arc furnace

(Question Number : 194 Question Id : 67809417217 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

solvay process s used m the production of
COptions :

1. Hoda ash

2 Coal tar

3. Lime soda

4. Gypsun

Question Number ;: 195 Question Id : 67809417218 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Hardness to water 14 caused by
Options :
1. Dissolved salts of calcium and magnesnum

e

2. Digsolved gases

CInsoluble matter

]

4. Pathogenic organigims

Question Number : 196 Question Id : 67809417219 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Green pigment 13
Options :
1. Titannun chozade

-

2. Chromium compourd

(]

- Lathopone

4 Iron ozde

Cuestion Number : 197 Question Id : 67809417220 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Coagulation 15 used for the removal of from waste waters.
Oplions :
1. Bacteria

e

2. suspended particles
3. Dissolved salts

4. Digsolved gases

Question Number : 198 Question Id : 67809417221 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The forces acting on a setting patticle are
Oplions :
1. Drag, gravitational, buoyant
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Question Number : 199 Question Id : 67809417222 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
[n1 an expermmental study. combustion of 1 mol of methane gas 15 carried out
under achabatic conditions with stoichiometric quantity of air. The adiabatic
reaction temperature obtained 1s T;. A second experiment 1s also conducted under
identical conditions but with 25 percent excess air, The adiabatic reaction
temperature obtamed i the second case 15 T>r. Wlich of the following 1s true?

Options :
o = I»
o 1_- - T:
e !
3.

T T
4

(Question Number : 200 Question Id : 67809417223 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

nprmg-dashpot models are used to describe
Options :
1. latumar flow

2 owscoelastic behavior

(]

. potential flow

4 muolecular motion
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